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For each answer, write the correct number down

AND fill in the bubble(s) on the answer sheet.

1. Which of the following reads a number correctly?
® 54— fifty five @75 seventy six
@ 96— eighty six @ 67 sixty seven

® g8 eighty seven

2. Which digit 8 of the following numbers has the greatest value?

@ 781 @ 918 @ 800
@ g0 ® 108

3. Mary bought 3 packs of notebooks, 10 notebooks a pack.
He also received 3 notebooks as a complimentary gift. How many

notebooks does Mary have?

4. The followings describe place values of 956.

® 9 s in the hundreds’ place and has the value of 900.
® 5isin the tens’ place and has the value of L.

® 6 is in the ones’ place and has value of 6.

What is the number in D?

5. How many line segments are there in the following image?
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6. Given the following pattern of counting forward.
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What is the correct number for I:I?

7. Find the value of @

8+6=8+2+|@|= |

8. From the addition below, what is the number in |:|?

o

9. Given the following numbers, what is the sum of the greatest

number and the lowest number?

10. Match the 5 cards below by pairing 2 cards to make the sum
of 10. After two pairs are matched, what is the number on the last,

remaining card? (each card can be used only once)

41 15 8 6 2

11. What is the number in D?

— 7 piles, 100 pieces each pile

738 pieces of
— 2 piles, 10 pieces each pile
something

—[] piles, 1 piece each pile
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the answer became 45. If in fact that number should be

added to 73, what is the correct answer?

16. What is the number in D?
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The addition statement above can be written into two different

forms of subtraction.
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What is the value of @+@?

13. What is the difference between numbers of the most frequently

used figures and the least frequently used figures from the image
below?
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14. The image below shows part of a table containing numbers with a

certain relation.
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Find the value of @

15. Instead of adding, 73 was subtracted by a number, and
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17. The sums of the four numbers in each circle are the same.

What is @+()?
/)
ava
N

18. The sum of three numbers is 18. If one of the numbers is 3,
and the difference between the two remaining numbers is also 3,

what is the greater number between the other two remaining ones?

19. Each of the following cards was used only once to make
two-digit numbers. Of all possible numbers that can be constructed
by the cards, what is the sum of the second greatest number and the

second lowest number?

el [2] [e] [ []

20. If both [_]’s have to be filled out by the same digit, what is the

sum of all possible digits for the I

[ ]s6>541 6 6<677

21. What is the number that satisfies all of the following conditions?

® It is greater than 14 but less than 30.
® The sum of 18 and this number is greater than 31 but less than

35.

®  The sum of 10 and this number is greater than 25.

22. What is the number in D?
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23. A pouch is filled with balls labeled 1 to 9. Nan and Amm play

a game in which whoever has the greater sum of all numbers on the
selected balls wins. If Nan picks balls 8, 2, and 4, while Amm picks
3 and 5 and has to pick one more ball, what is the sum of the
numbers that Amm needs to pick in order to win the game? (balls

are drawn from the pouch without replacement)

24. Triangles are made with matches as the pattern below. How many

matches needed to make 15 triangles?

N2y

25. For all three-digit numbers greater than 674 but less than 801,
how many of them have their digits in the hundreds’ place greater

than their digits in the tens’ place?

26. Triangles and quadrilaterals are placed based on the following

relation.

O Oa OaO OaOa
AA  AAOD  AAOA

[ (PN

AAAA

First Second Third Fourth

If 100 figures are placed in |:|[h order, what is the difference between
the total number of triangles and the total number of quadrilaterals in

this [ ]" placement?
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27. A piece of paper is folded along the 3 dash lines as shown on left.
If the folded paper is cut along the dash lines as shown on right and

then unfolded, how many triangles will be there?

A~ L

28. How many quadrilaterals (of all sizes) are there in the image

below?
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29. If a is separated into two equal numbers, b and b, which are then
separated into different numbers as shown below, what is the sum of
all numbers that a could possibly be? (b, ¢, d, and e are different

numbers that are less than 10).

30. There are 6 dots as follows.

How many quadrilaterals can be made by connecting 4 dots?
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